
L
u
b
ri

ca
ti

n
g
 n

ip
p
le

s

Lubricating nipples

Description

Grease nipples provide a standardized connection to the grease gun 

and are therefore an important part for servicing and maintaining 

bearings  They also protect the lubrication point from external  

influences such as dirt and water 

Features and benefits

• Our standard program includes the most common hydraulic  

and flat grease nipples according to DIN 74412 and DIN 3404

• Available in galvanized steel or stainless steel

Applications

• Linear guides

• Bearings, bearing blocks

• Drive shafts, cardan shafts

• Axles

142

https://rodavigo.net/es/c/f/skf

Polígono Industrial O Rebullón s/n. 36416 - Mos - España - rodavigo@rodavigo.com

Servicio de Att. al Cliente
+34 986 288118



L
u
b
ri

ca
ti

n
g
 n

ip
p
le

s

Lubricating nipples

Hydraulic grease nipples according to DIN 71412

Button-head grease  
nipples according DIN 3404

Order number Designation Form Thread Material Operating  
pressure max 

Weight  
(100 pcs)

    mm  bar psi g lb

Steel, galvanized
251-14040-1 HYDRAULIC LUBR FITT  ST AR  1/8  Z Straight R 1/8 11 Steel, galvanized 350 5 080 600 1.32
996-001-890 HYDRAULIC LUBR FITT  ST AM 10X1,0 Z Straight M10×1 11 Steel, galvanized 350 5 080 500 1.10
251-14109-3 HYDRAULIC LUBR FITT  ST BR  1/4  Z Angle, 45° R 1/4 14 Steel, galvanized 350 5 080 1 800 3.97
251-14045-1 HYDRAULIC LUBR FITT  ST BR  1/8  Z Angle, 45° R 1/8 11 Steel, galvanized 350 5 080 1 200 2.65
251-14040-2 HYDRAULIC LUBR FITT  ST CR  1/8  Z Angle, 90° R 1/8 11 Steel, galvanized 350 5 080 1 200 2.65
251-14044-8 HYDRAULIC LUBR FITT  ST CR  1/4  Z Angle, 90° R 1/4 14 Steel, galvanized 350 5 080 1 200 2.65

Stainless steel
251-14073-9 HYDR LUBR FITT +CHECK VALVE A2  1/8 Straight R 1/8 11 Stainless steel 400 5 800 800 1.76
251-14109-2 HYDRAULIC LUBR FITT  A2 AR  1/8  Z Straight R 1/8 11 Stainless steel 350 5 080 600 1.32
251-10309-1 HYDRAULIC LUBR FITT  A2 AR  1/4  Z Straight R 1/4 14 Stainless steel 350 5 080 1 200 2.65
251-10780-2 HYDRAULIC LUBR FITT  A2 AM 10X1,0 Z Straight M10×1 11 Stainless steel 350 5 080 500 1.10
251-14063-4 HYDRAULIC LUBR FITT  A2 BR  1/8  Z Angle, 45° R 1/8 11 Stainless steel 350 5 080 1 200 2.65
251-14063-9 HYDRAULIC LUBR FITT  A2 CR  1/8  Z Angle, 90° R 1/8 11 Stainless steel 350 5 080 1 200 2.65

Order number Designation Head ∅ Thread Material Operating  
pressure max 

Weight 
(100 pcs) 

  mm  mm  bar psi g lb

251-14040-5 BUTTON HEAD LUBR FITT ST AG   1/8-16Z 16 G 1/8 17 Steel, galvanized 350 5 800 1 700 3.75
251-14040-4 BUTTON HEAD LUBR FITT ST AG   1/4-16Z 16 G 1/4 17 Steel, galvanized 350 5 800 1 900 4.19
251-10309-2 BUTTON HEAD LUBR FITT ST AG   3/8-16Z 16 G 3/8 17 Steel, galvanized 350 5 800 2 000 4.41
251-14063-1 BUTTON HEAD LUBR FITT ST AG   1/4-22Z 22 G 1/4 22 Steel, galvanized 350 5 800 4 000 8.82
251-14040-3 BUTTON HEAD LUBR FITT ST AG   3/8-22Z 22 G 3/8 22 Steel, galvanized 350 5 800 4 000 8.82
251-14045-8 BUTTON HEAD LUBR FITT ST AM10X1,0-16Z 16 M10×1 22 Steel, galvanized 350 5 800 1 700 3.75

L1

L2

L3

GW

L1

∅22 mm

L2

GW

L1

L2

GW

WL

W

L1

L2

GW

WL

W

Straight Angle, 45° Angle, 90°

Head

Thread

Thread Thread
Thread

143

https://rodavigo.net/es/c/f/skf

Polígono Industrial O Rebullón s/n. 36416 - Mos - España - rodavigo@rodavigo.com

Servicio de Att. al Cliente
+34 986 288118



L
u
b
ri

ca
ti

n
g
 n

ip
p
le

s

∅6.4 L1

L2

5

32

Ȃ51

20

6

Order number Designation Ports for  
lubricating  
nipples

L1 L2 Material Operating  
pressure 
max 

Weight  
(100 pcs)

   mm mm  bar psi g lb

532-32248-1 LUBR FITT BLOCK W 1 FITT  R1/8 45 DEGREE 1 30 40 Steel, galvanized 400 5 800 160 0.35
504-37184-2 LUBR FITT BLOCK W 1 FITT  R1/4" 90 DEGREE 1 30 40 Steel, galvanized 400 5 800 217 0.48
504-37210-1 LUBR FITT BLOCK 2 FITT  R1/8 2 40 50 Steel, galvanized 400 5 800 132 0.29
504-37211-1 LUBR FITT BLOCK 3 FITT  R1/8 3 60 70 Steel, galvanized 400 5 800 177 0.39
532-32454-1 LUBR FITT BLOCK W  2 FITT  R1/8 2 40 50 Steel, galvanized 400 5 800 331 0.73
432-70024-1 LUBR FITT BLOCK 2 CONN R1/8 HORIZ /VERTIC 2 1) 40 50 Steel, galvanized 400 5 800 236 0.52

1) Two lubricating nipple connections; corresponding tapered grease nipple order no  251-14045-1

25

30

L2

L1

∅6.4

∅6

30 ∅9

Ȃ75

9

Lubricating nipples

Lubrication fitting block

Order number Designation Prots for  
lubricating nipples

L1 Material Operating  
pressure 
max 

Weight  
(100 pcs)

   mm  bar psi g lb

532-32131-1 HOLDER W HYDR LUBR FITTING 1 40 Steel, galvanized 400 5 800 93 0.21

Holder with lubricating nipple and fitting

532-32248-1 532-32454-1

144

https://rodavigo.net/es/c/f/skf

Polígono Industrial O Rebullón s/n. 36416 - Mos - España - rodavigo@rodavigo.com

Servicio de Att. al Cliente
+34 986 288118



L
u
b
ri

ca
ti

n
g
 n

ip
p
le

s

Lubricating nipples

Lubrication nipple manifolds

10

13

15L1

L3

10

20

M10×1

M10×1

10
20

12.5

L2
5.25 ∅6.5

10
20

15 L1 M10×1

L3

12.5
20

Order number Designation L1 L2 L3 Number of  
threaded  
holes

Material Operating  
pressure max 

Weight  
(100 pcs)

  mm mm mm   bar psi g lb

871-340-006 LUBRICATION BAR 1x M10x1 – 19,5 30 1 Steel, galvanized 400 5 800 72 0.16
871-340-008 1) LUBRICATION BAR 2x M10x1 – 19,5 30 1 Steel, galvanized 400 5 800 70 0.15
871-360-006 LUBRICATION BAR 2x M10x1 20 39,5 50 2 Steel, galvanized 400 5 800 120 0.26
871-360-008 1) LUBRICATION BAR 4x M10x1 20 39,5 50 2 Steel, galvanized 400 5 800 120 0.26
871-380-006 LUBRICATION BAR VA 3x M10x1 40 59,5 70 3 Stainless steel 400 5 800 180 0.40
871-390-020 LUBRICATION BAR 10x M10x1 20 199,5 210 10 Steel, galvanized 400 5 800 530 1.17
871-390-023 LUBRICATION BAR 13x M10x1 20 200 270 13 Steel, galvanized 400 5 800 685 1.51

1) Nipple connection; corresponding tapered grease nipple with valve, order no  996-001-890

Order number Designation Material Operating  
pressure max 

   bar psi

LAGN 120 LUBRICATION NIPPLE BOX LAGN 120 Steel, zinc plated, hardened and blue chromed 400 5 800

Lubricating nipple box Thread Type Quantity

M6x1 straight 30
M8x1 straight 20
M10x1 straight 10
G 1/8 straight 10

M6x1 45° 5
M8x1 45° 10
M10x1 45° 5
G 1/8 45° 5

M6x1 90° 5
M8x1 90° 10
M10x1 90° 5
G 1/8 90° 5

145

https://rodavigo.net/es/c/f/skf

Polígono Industrial O Rebullón s/n. 36416 - Mos - España - rodavigo@rodavigo.com

Servicio de Att. al Cliente
+34 986 288118




